6(x— 1) +7x = (2x - 3)(4x + 1) 9] 37} x
x=BL W, 4(a+p) & FS Tt (B a>p)

&
rr

a>po|ng

5+ V97 5— Vo7
= 4 ,ﬁ: 4

4(a+pB) =10




n

v V. v Vv
0
i
=
I
W N

0
o
=
I

|

|

B

(i)x>0 < uf
9x2 —2=3Vx2, 9x2 -2 =3x
9x2-3x-2=0, Bx+1)(3x-2)=0

xZOO]E?-._ng

(i) x <0 & uf
9x2 -2 =3Vx2, 9x2 -2 =-3x
9x2+3x-2=0, 3x-1)(3x+2)=0

x<0°]£‘§x:—§

[SURN )

(1), (i)oNA x= =+




7 (da>p)

M

@ 6 3)5 @ 4

D1

x—1=r2t5lH

502 -2t—-3=0

o X
A

Il S

= 905

o | s

Q,

I o~ Il

= Il S|
S %




4. (x-y)(x-y-3)-18=0 <Y o, x—y 9 = Fotolzt. (x> y)

> E.

> He 6

B

(x-y)(x-y-3)-18=0,
x—y=A 2 gs}1H
A(A-3)-18=0,
A2-3A-18=0,
(A-6)(A+3)=0,
A=6%EEA=-3°[t}h
x>yOlB& x—y=6°|tt




o] A A x2 — (k4 2)x+1 =0 °] T2 7FA wjo] A
2 gl AT AN —ax+a®-1=0 9 g Y u,
e Fokolat,

O @ 2 ® 3 @ 4 ® 5

2 —(k+2)x+1=0°lA4
(k+2)2-4=0,k*+4k=0

k(k—4) =0

k=0, —4

¥ -ax+a>-1=09° x=0< HsIH
a?-1=0

a= =1

~a=1( a>0)




ORI 2 —dxtat1=00] N2 T2
95 Fatolat,

=3}
=1

6.




P2y = a2 —4x+5 o THZE thepd Aol
A, x F3TbE A2 B, C 7 & o, AABC 9

Ay

®3 @2 ® 24 @ 21

g&-@

~&B

y=—x>—-4x+5
=—(®+4x+4-4)+5
—(x+2)2+9
A HEE (-2, 9) o1
—x?2—4x+5=0 = x> +4x-5=0
(x+5)(x-1)=0= x=-5 114
B(-5, 0), C(1, 0) °]ct.

wakA AABC = % X6x9 =27 |t}




o
[
o
rlo

oA

o N L
N,

y= a5 9] 2ROl 4 C A &

ﬁxa—‘:_,y%mruur% o|1, A B + HAF x Fol T
o213 uj, AABC 9] Yol & 737
yl\
A
|
' c_
e
os @Y os @2 o

B

y AHo] 5 0|22 A(0,5)

y=-x*+4x+5=—-(x—-2)2+9

0] x =2 °|EZ B(2,0)

y:O?:_]‘IHx2—4x—5=O

(x=5)(x+1) =0 °]EZ C(5,0)

AABC ¢ 2H BC =3, ¥°] AO=5
1 15

ABC = - =
. AABC 2x3x5 >




